
SAP ABAP table VZBAV {BAV Data}

VZBAV

MANDT [CLNT (3)]

BUKRS [CHAR (4)]

SUDEC [NUMC (2)]

RINUM [CHAR (22)]

SGBAV [NUMC (3)]

SBAV501 [CHAR (4)]

SBILK [CHAR (2)]

SAWHR [CUKY (5)]

T000

MANDT [CLNT (3)]
 VZBAV-MANDT = T000-MANDT 

1

1

T001

MANDT [CLNT (3)]

BUKRS [CHAR (4)]
 VZBAV-BUKRS = T001-BUKRS 0..N

0..N

TCURC

MANDT [CLNT (3)]

WAERS [CUKY (5)] VZBAV-SAWHR = TCURC-WAERS 0..N

1
TW05

MANDT [CLNT (3)]

SUDEC [NUMC (2)]

 VZBAV-SUDEC = TW05-SUDEC 
11

TW06

MANDT [CLNT (3)]

SGBAV [NUMC (3)]

 VZBAV-SGBAV = TW06-SGBAV 

1

1

TW11

MANDT [CLNT (3)]

SBILK [CHAR (2)]

 VZBAV-SBILK = TW11-SBILK 

1

1

TW12

MANDT [CLNT (3)]

SBAV501 [CHAR (4)]

 VZBAV-SBAV501 = TW12-SBAV501 

1

1


